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Contest Details

Solving Logistics

Every 9x9 grid will have 2 rows/columns to enter, each labelled with a letter.
Enter in the digits in those rows/columns starting from the left or top. Online
solving via Penpa is available for each puzzle, although no automatic solution
verification through the Penpainterface is available. As such, if you solve online,
you will still have to enter the labelled rows/columns for each puzzle to receive
credit. Links to each puzzle are available directly through the contest portal on
LMIL.

Submission

You may submit answers at any point during the XX minutes (TBD) after you
reveal the password, although any submissions recorded after the fact will not
be accepted. There is instant grading for each puzzle so that you can
immediatelytell if youransweris corrector not. You can submitanswers multiple
times if your first few attempts are wrong, with each incorrect submission
reducingthe potential points you may receive for a puzzle. More specifically, the
first, second, and third incorrect submissions reduce the potential score to 90%,
50%, and 0% respectively.

Bonus & Rankings

Rankings are determined by most total points first, then by earliest final
submission time (disregarding incorrect submissions). Bonus points are
awarded to those who finish all puzzles correctly before time has elapsed, with
1% of your final score being added for every minute saved.

Acknowledgements
Thank you to Prasanna Seshadri and Logic Masters India for being such a
gracious host for this contest!

Thank you to Becca Chang, Thomas Luo, Sinchai Rungsangrattanakul, Tina
Bratim, Pavel Kocka, and Jackie! Zhou for test-solving all the contest puzzles and
providing feedback on them to finetune for this contest!

All IB puzzles are either self-written, or previously used puzzles from instruction
booklets of previous sudoku GP rounds.




Puzzles 1 - 5: Classic 2+ 2?2+ ?+ ?+ ?Points

Rules: Place the digits 1-9 in each empty cell in the grid such that each row, column, and
marked 3x3 box contains each digit exactly once. Online Solving

Example Solution
2 1 5/213|7]4(9]|18[1]6
4 6 7 3 411/6(2,/8|5|7]9|3
8 1 5 7189316254
8 2 6(3/1(8|7|2[5|49
7 3 8/4|715|9|1]3|6|2
6 4 9/5/2(6[3|/4[1|7 8
6 5 2 1161845319 (2|7
2 5 4 1 2|7/5(9|6|8|43|1
9 8 31914127685
Puzzle 6: Antiking ? Points

Rules: Classic sudoku rules apply. Digits placed in cells connected by a chess King's move
must be different. Online Solving

Example Solution
8 8/3|5|6(2(7|1/4]9
213 415 619(2|3(1(4]|5|8]|7
1 6 41117181592 |63
2(5(3|1(4|6|7|9|8
81415 2131 9/8(4|5|7(2|3|1]|6
7/6(119(3(8|4(2|5
2 7 31281465971
617 18 5/4/6|7]9(1]18|3|2
4 1171912|8]3|6|5/|4



https://tinyurl.com/yncqlnl3
https://tinyurl.com/2bz5luwn

Puzzle 7: Antiknight ? Points

Rules: Classic sudoku rules apply. Digits placed in cells connected by a chess Knight's move
must be different. Online Solving

Example Solution
3 5 4 3/9/2|7|/5/1]|6/8|4
2 6 54171286391
6 7 sl1/6]3[9|4|7]/2]5
8 1 5 ol8(3]9l1]|7[4]5]6
9 41 |2 3 9|7|/5|4(6|2|8/1/3
6 3 7 116|415/3[|8[2]7]9
9 5 6/2/9|1/7[3]|5/4 |8
8| |5 713/1]8/4|5[9 /62
4 2 7 4/5(8(6/2(9|1/3|7
Puzzle 8: Antiking or Antiknight ? Points

Rules: Classic sudoku rules apply. Each number (1-9) abides by either Antiking or Antiknight
rules (e.g. all 1s are Antiking, all 2s are Antiknight, all 3s are Antiking, etc.). Online Solving

Example Solution
112]3]|6 5 112(316|9|7|8|45
4,56 9 41561281937
78 2 7/8/915(3(4|2/1]|6
2 3 2/4/71811]3]|5/61]9

) 6/9/1|4|5(2|3|7|8

7 1 5138|7694 ]2]1

4 5|3 8/7/419/2(6|1/5|3
2 68 4 9/1/2|3|7(5|6/8|4
3 81792 3/6/5]1]4|8]|7|9]2



https://tinyurl.com/236z2eje
https://tinyurl.com/23m559o8

Puzzle 9: German Whispers ? Points

Rules: Classic sudoku rules apply. Adjacent digits along the line must have a difference of at
least 5. Online Solving

Example Solution
7 9 8/7/2]14/5/9(1/8|6
3 1 2 314|916/1|7|8|5]|2
8 7 51161832974
1 3 6/2/1|5(7|8|3|4|9
9 6 719/311/4|6|5/2 8
4 2 1 4, 5,8|9/2|3|7|6]1
7 8 2,3|417/9|1|6/8|5
7 4 9/6|7|12,8|5|4|1,3
8 4 118/5183(6(4]|2|9]|7

Puzzle 10: Thermo ? Points

Rules: Classic sudoku rules apply. Some thermometer shapes are placed in the grid. Digits
are strictly increasing from the round bulb of each thermometer to each flat end. Online

Solving

Example Solution
1 4 112(918|7|6|3/5/|4
3 2 8|13, 715|9(4|1/2,6
) 4 6(513|2{(1]7(8|9
o|11419(8|3[2|6|7
1 3/7/8]6(1(2]4/9|5
6/9/2|7/4[(5]8|1|3
S} 983167542
4 3 7,4/112/5(9]6]|3|8
2 1 2(5/6[(4|3(819|7|1



https://tinyurl.com/2bqrq8td
https://tinyurl.com/yub28239
https://tinyurl.com/yub28239

Puzzle 11: German Whispers or Thermo ? Points

Rules: Classic sudoku rules apply. Some lines are placed in the grid, and each line is either a
German Whispers line or Thermo shape with exactly one unlabeled bulb that at the end of
the shape. Online Solving

Example Solution
) 2 8/4|5|6(1]9]|7|2 3
1 9 7012|514 13|6[8|9
9 9(3[6]|7(8|2]1|5|4
1 2|/719|11/5(8]|3|4|6
6,8 (1|2[3(4]|5(9]|7
6 419513197 |6|8 1|2
1 56 4182|7931
3 7 39(8|4(6(1]|2|7|5
2 4 112|713|9|5|4|68
Puzzle 12: Killer ? Points

Rules: Classic sudoku rules apply. The number at the top-left corner of each cage equals the
sum of digits inside the cage. Digits do not repeat inside a cage. Online Solving

Example Solution
2 4 3 9128114 (5|6|3]|7
6 L Ml 6|/5/7[8]3/9]2]4 1
41/113]6(2]7]|9/5]8
_____ o |2 . 7[8]5[9]6[2[3)1]4
2 L 1L s 2/9/4[5]1/3]7)8|6
ST 4] 3i6i1[7/8]4]|5[2]9
__________ 87i2|3]9[1[4/6]5
I EEE AN EE 1/4/9]2]5[6]8]73
3 7 9 5131614718192



https://tinyurl.com/22v25fh4
https://tinyurl.com/yv62duey

Puzzle 13: X-Sums ? Points

Rules: Classic sudoku rules apply. Each number outside the grid is either the sum of the first X
numbers placed in the corresponding direction, where Xis equal to the first number placed
in that direction. Online Solving

Example Solution
1 9 12263941 214519 1 9 12263941 214519
1 26 11112(3|6|7|8|5|9|4]26
42 11 4218714111952 |63 |11
29 30 29161951214 3(1/8|7130
37 23 37|76 (118129143 |5]23
20 40 2015(3(2|4/6|7]19|1|8140
45 9 45194 8|53 (|1|6|7|2]9
17 31 1714 1119|3827 |5]|6]|31
10 1 1012879563411
14 45 143|567 1(4]18|2|9145
9 213338 1 1340 6 45 9 213338 1 1340 6 45
Puzzle 14: Killer X-Sums ? Points
Rules: Classic sudoku rules apply. Killer and X-Sums rules apply. Online Solving
Example Solution
10 1 17 38 10 1 17 38
21 | 2116 2]3]|1/5(4]|7|8]9
T 20 |7]81]9]5] 2|54 6
25 254 |95{7i8]6]|1(3]2
Tl [e]3l0f6 2 5]A 1 7]
23" | | 14 23[5]1614]7|8[2]93]14
of | | 9f2/71413/1/9]6]5)8
=TT 1o ol517]8 /s 11312 410
9 L 9(3]42[5[9]7[8]6]1
- 116[8]2]4]3]9}7 5]28
26 7 11 33 26 7 11 33



https://tinyurl.com/26nqrlhk
https://tinyurl.com/28u9hzbf

Puzzle 15: Outside ? Points

Rules: There are 5 overlapping 9x9 sudoku grids. The digits outside the grid must appear
within the first three cells in the corresponding direction. Online Solving

Example Solution
2 2
4 1 6 3 4 1 6 3
93 8 7517 93 8 7517
4 6 3 4 6[4[1]6]8]5[9]2][3]7]3
3 8 46 3 8|8]3[5]|2[1]7[9]4]6]|4 6
158 9l2]7]6]4[3]5][1]8[1 5 8
1 3 1{7]5]1]9]8]6[4]2]3]3
349 6 8 3 4 9[3]94|7][2]5[8]6[1]6 8
6 8 5 9 6 8|2]6]8|4]3[1][7]5]9]5 9
57 9 57 9(5/7]9]|3][6[2[1]8]4
2 9 1/8(3|5|7(4]16(9(2|2 9
4 3 5 416|14(211(9]8]13|7|5]3 5
1793 2172 1793 2172
4 8 4 8
8 8
Puzzle 16: Skyscrapers ? Points

Rules: Classic sudoku rules apply. Each digit represents the height of a building. The clues
outside the grid indicate the number of buildings visible from the corresponding direction. A
taller building will hide any shorter buildings behind it. Online Solving

Example Solution
6 5 6 5
7 419161815327
4 318(1[7]12]9]6|5/4]|4
4 5|7(2]|6|3(4]19/1]|8
2 814(911|7(3|2|65
9 911(2|3|4|5|6]7[8]|9
3 716151982143
3 61583911472
8 812(3|4|5|6|7]|8|9]|1
9 911(7]|2|4|8|5|3|6
7 7



https://tinyurl.com/2dekhwko
https://tinyurl.com/26a5mada

Puzzle 17: Outside or Skyscrapers ? Points

Rules: Classic sudoku rules apply. Each digit outside the grid is either a Skyscraper clue or
Outside clue (or both!). Online Solving

Example Solution

3 3 77 3 3 77
2 7 214|19(8|7/6|3[5|2(1]|7
2 4 7 21215194 |8(6|7|3]|7

5 6/3|715/2(1]|18|9]|4

1 3181267 (9]1(4|5

5 6 91511183 (4]12(6|7

6 714161215193 |8

2 871411923 (5]|6
9 8 1 915619138714 ]|1]|2]1
9 1 9112314567 8]|9]|1

5 5 2 2 5 5 2 2



https://tinyurl.com/2y7jr6qm

